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(a) RESISTOR METHOD

Max 1 =1y

0.01pF
(optional, for noisy
environments)
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(b) DAC METHOD (Current or Voltage)
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\ Pp = (Ty(max) = Ta)/ Gip

(T; (max) — 150°C)

gc’ 20 with Thermalloy 6399B
8 Heat Sink, 6;, =5.2°C/W
g
7]
e with Thermalloy 6396B
¢ 10 [ HeatSink, 6), = 7.5°C/W 1
o
o with No Heat Sink,
— 6, = 30°CIW \
o —_—
0 25 50 75 100 125
Ambient Temperature (°C)
Thermalloy 6396B B4a = 5.6°C/W
assume By = 0.5°C/IW
OPA549 6,c = 1.4°C/IwW
6, = 7.5°C/W
Thermalloy 6396B 64p = 3.3°C/W
assume Ocy = 0.5°C/IW
OPA549 0,c = 1.4°C/W
6;,, = 5.2°C/wW
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10Q
(Carbon)

0.01pF

1H

D, D, : Schottky Diodes
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——O Vo=V (1+RyRy)

_ 15800 (4.75V)
©7 7500Q + R,

4.75V "=
/ Ref
|

0.01pF
(Optional, for noisy
environments)

Uses voltage developed at I, pin
= as a moderately accurate reference

For Example: voltage.

It I = 7.9A, R, =2KQ

_ 2KQ+4.75V

CL7 (2kQ + 7500Q)

10
Desired Vo= 10V,G = T: 10

R, = 1kQ and R, = 9kQ

09.000




V+ = +30V

1kQ 9%kQ V== 0V
WA YW G=1+ 22 -9
10.5kQ
OPASAS o5 Vo=1Vto25v
Output 10kO 0.12V to 2.5V + E/S lo =0to 10A
Adjust 6 o
Ref 7&; 04 R=2500Q
V_
— \\- Thermal //(( (LED)
Shutdown Status
1KQ 0V to 4.75V
Current
Limit
Adjust 20kQ _—I— 0.01pF
gl0.0000000000OOODOO
V+ = +30V
V—-=0V
1kQ
-5V
o W YWA
Vier OUTPUT ADJUST —
B G=10
! +5V :
: VREF A T 1
T 1 1
1 \ Rega | +SV 1 3
X . 1,2
L oor OPA549 —O Vg =7Vto25V
—N T ' g
=) o P 1 . Io = 0A to 10A
! (3) lout A 1
X 1/2 DAC7800/1/2 OPA2336 \ + 74HCTO4 R s 2500
\ DAC A + | |
1 AGND A 1 I
1 1
. e 1 Thermal //(( (LED)
1 - ! Shutdown Status
1 1
1 Veers 1
1
R 1
1 \ _?_B 1
! 1
10pF
SN N T > '
—— L 1R !
I 1/2 DAC7800/1/2 ouTB OPA2336 1
1
DACB + !
1
. v — o.o1F !
i DGND AGND B = .
1 - - - 1
L e e e e e e e e e e e e e — -

CURRENT LIMIT ADJUST

Choose DAC780X based on digital interface: DAC7800 - 12-bit
interface, DAC7801 - 8-bit interface + 4 bits, DAC7802 - serial interface.

olu.o0oooooooobocooooo
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OPA549
s E/S
R, R, Vo
Vs © P Vine© VVV \/\/\/\ Reio
Close for high current
- (could be open drain
OPAB49 output of a logic gate).
s E/S
Limit output slew rates to < 3V/us (see text).
OJl12. 00000000 013.00000000
20A Peak
—O V,
G=5

du.0oooooooobobooooooon
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I
PIN 1 / *1 (o] -
ha—[c3 | - [024 06D D7)
5 1 PL
00025 QX OF @) (2] |-
11 PL.
INCHES MILLNETERS |0 INCHES MILUMETERS |8 | NOTES:
OM 0N, | Max | wn. [ max. | E IO [ [ max [ N [max. ]
Al 1721 182 437 | 262 N 11 11 3| 1. DIMENSIONING AND TOLERANCING
B | .035[ .041]0.891.04 P [ 148 [152 [3.76 [ 3.86 PER ANSI Y14 5M—1982.
c | .014 | 024 | 0.38 | 0.61 2. CONTROLLING DIMENSION:  INCH.
D | .778| .798 |19.76 |20.27 3. N IS THE NUMBER OF TERMINALS
E | 671 | 694 |17.04(17.63
E1 .405 | .426 |10.29 [10.82
E2 110 BASIC | .279 BASIC
e | .067 BASIC | 1.70 BASIC
el .200 BASIC | 5.08 BASIC
e2 | 189 BASIC | 4 29 BASIC
ed | 670 BASIC 17.02 BASIC
F .057] .063 | 1.45 | 1.60
L 150 | 176 | 3.81 | 4.47 PACKAGE NUMBER: 77242 ‘RE\/‘: D
L1 690 | .710 [17.53 [18.03 JEDEC NUMBER: MO—-48—-AA
[0BBJ000103K



